
www.radfordretail.com

Part Number Description Photo

13221-10 Glass Arm Clamp LED - Only Bracket

10220-00
4 core cable 1100mm + 4 strip RGB 

LED

29146-01 Radar CGS-1 2G Kit

10596-00 Childsafe Sensor

10358-30
Childsafe sensor Bracket - Same 

bracket for both left and right

29151-01 Photocell Banner NPN 

12574-90 PEC and Reflex c/w bracket

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 1 of 10



www.radfordretail.com

29152-01
AlphaGate Key Switch/Electrical lock 

assembly

10402-01 Spare Key Sigma/Alpha/Easy/ACC

29136-01 Radar Cover White Plastic

10958-30
Screw M5x8 DIN 7991 10.9 (12 pk) - 

Glass arm screws

80428
Torx pan screw M5x10mm (10 pk) -  to 

suit PEC Sensor lid

080393
Set screw M6x6 DIN 916 knurled 

M6x6 (10 pk)

077031
Set screw M8x8 

Plain/knurled/DIN916Tread lock (10 
pk)

080391
Torx Screw Countersunk M3x8mm 

(10pk) - for Childsafe

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 2 of 10



www.radfordretail.com

29016-01         
Hex socket screw countersunk 

M6x12mm SS (10pk) - Upper Radar 
Tube

29014-01          (to 
suit Base Tube 

Cover)

Hex socket screw countersunk 
M8x14mm SS (10 pk) - Lower Tube

878052 M5x12

13220-30
Spacer nut (METAL) Alphagate MKII, 

LED glass arm (10 pk)

13219-50
Bush Ø8xØ10x15 (Plastic) Alphagate 

MKII, LED glass arm (10 pk)

075081 Cable bushing           F-1210

10359-10 Lower tube lid childsafe RH

10360-10 Lower tube lid Childsafe LH

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 3 of 10



www.radfordretail.com

10312-10 Upper tube radar

29104-01 Top lid flat std

29098-01 Middle barrel, Alphagate MKII, CH

10304-10 Lower tube lid C/W Labels 

10300-10 Lower tube STD

23611-01 Base Cover

10324-00 Main PCB

10326-00 Top PCB

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 4 of 10



www.radfordretail.com

10330-11 Ribbon cable between PCB:s

28131-11 GateCOM Cable L=20 m

10214-10
Tube socket R24 with screw (Connects 

to upright)

11355-10
Tube socket R60 c/w screw (Connects 

to Alphagate Bollard)

23606-01
No Entry/No Entry - Alpha/Easygate 

NG Sign Panel.

23604-01 Sign Panel  -  Entry/No Entry

30615-01 Cross rail R15 Ø40x1420mm - CH

11006-10
Upright Ø48x1080, E                                                           

RND base, c/w cover & top, CH

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 5 of 10



www.radfordretail.com

11011-10
Upright, 4 cups, Corner Ø48                                                     

RND base, c/w cover & top, CH

11007-10
Upright Ø60x1080, M                                                             

RND base, c/w cover & top, CH

11004-10 End/start upright chrome Ø60

13680-90 Drive Unit Semi Assembled

13680-90R
Refurbished Drive Unit Semi 

Assembled
TBA

16019-11
Alphagate MKll STD LH with radartop                                           

Incl 4 con. cups CH

EQCC9519

Replacement AlphaGate Complete 
with                           29182-01 + 29146-

01 +23604-01                                                       
( DM Replacement gate ) 

29182-01
Gate Arm 1100x250x28x1.5                                                     

Alpha/Easygate NG, CH (Acc arm)

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 6 of 10



www.radfordretail.com

10750-165-LH or 
10750-165-RH

COLES - Glass arm 1000mm LED 
unique logo - with Welcome to Coles 
LASER ETCHED Left hand hinge, 
Nose Down/ Right hand hinge, 

Nose Up

PP-CUS COLES LH

Custom Length - 8mm CLEAR 
ACRYLIC ???mm arm with Welcome 
to Coles LASER ETCHED Left hand 

hinge, Nose Down

PP-CUS COLES 
RH

Custom Length - 8mm CLEAR 
ACRYLIC ???mm arm with Welcome 

to Coles LASER ETCHED Right hand 
hinge, Nose Up

PC Arms Set - WW
1000mm PolyCarb Woolworths Arms 
with "Welcome/No exit" sticker L&R 

Sides, 2 Arm set

PC Arms LHS - 
WW

1000mm PolyCarb Woolworths gate 
arm Labeled "Welcome/No exit" Left 

Hand Side hinge Only

PC Arms RHS - 
WW

1000mm PolyCarb Woolworths gate 
arm Labeled "Welcome/No exit" Right 

Hand Side hinge Only

PP- SCAN & GO 
ARM - WW

8mm CLEAR ACRYLIC 1000mm PC 
arm. No Sticker

LR8855-02 Gen 2
Centurion Nova Centsys Helix 

 Genuine 2CH Receiver

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 7 of 10



www.radfordretail.com

LR8856-02 Gen 2
4 Button Remote Control to Suit 
Centurion Nova Centsys Helix 

 Genuine 2CH Receiver

19151-00
Pluggable Rising Clamp Terminal 

Block                            Straight, 7,5 mm 
Pitch, 3 pole

19152-00
Female Connector, Straight, 3.81                                                 

Pitch, 4 Poles     

19153-00
Female Connector, Straight, 3.81                                               

Pitch, 5 Poles     

19154-00
Female Connector, Straight, 3.81                                            

Pitch, 6 Poles

10428-10 Post Reflector Mount

10752-50
Cup hole bung (cover)                                                          

Black plastic M8 ( packed 10)

29025-01
Screw M10 x 100 8.8 ZP - ISO 4762                                      

Allen Key screw MC6S M10x100

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 8 of 10



www.radfordretail.com

10539-30
Tubular screw M10x100 8.8 ZP Full 
Thread -                   LED gate arm

29160-01 Spigot R60 Assembly, CH

14438-80 Glass Panel 360x380x6

14442-80 Glass Panel 394x380x6

14430-10 Upright chrome Ø48x620

14437-10 Tube Ø40 x 350 Assembly Screenwall

14433 Tube Ø40 x 390 Assembly Screenwall

10200 Clamp R24 assembly

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 9 of 10



www.radfordretail.com

23608-01 Top cover threaded hole c/w clamp 

23608-01 Top cover threaded hole c/w clamp 

Goods remain the property of Radford Retail Solutions Pty Ltd until paid in full

Technicians Radford Alphagate Spare Parts List 01.11. 2024 Page 10 of 10


